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Draw & circuit for & high pass dilter. Whad type of naise s likely
o bo reduced by a high pass filtar? [10)

2. A Michelson intarferomater had a mirer velocity of 1.25 cimis,

0.

Wital wouid be the fraguency of tha interferogram for a infrared
tadiafion of 7.8 g7 (10}

- Mame efl lypes of mass analyzer. (10

. Show howr a2 matal gxide sernicengucior field-effect transistor

(MOZ-FET} ean be vsed for selective messuromant of g particcdzr
ion? {10}

Explain the dilferance between a fluorescence smission spectrumm
and a fluoreseance excitation spoclrum. Which more closaly
resambles an absorption spestrum? (101

- Which of the iollowing instrumantal methods has higher dynarrig

range? a) Uv-Visibla b) FTIR &) AA d) ICP-AES e)] x-ray
flucrescence 1) Raman 3] MMB (10}

. Why duss pH aflagt sepavation of amine acids by electrophorasis?

{10}

- Describe how it is possible to distinguish batween XFS peaks and

Auger alactren paaks, (10}

- Calculate the proton concentration of 2 0.0400 M suliuric acid,

a2 = 1.02 x 192 {100

Which, volumelide or weight titration, has higher precizion gnd
accurasy? Whyt {10)
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